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7,000 3 «8H 25 1,400
02 =24l 231,596 235,320 AN3,724
O1.2323LAA 179,320
—SYHFEI BHE RB= 130,000,000 130,000
“wEXNEXE MAM3Uz 3,000,000& 3,000
-ROIEECCTV 3l AL R
190,000& 20CH 128 45,600
- OIEECCTV 2HY AIEZ
30,0003 «2CH 12 720
O3. A€ ZHI =Xt 43,840
-=8FEI 9538 SN2l
4,000,000& 4,000
-l AIAE(CCTV) RA24
80,000 x250H =12 24,000
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SN DEHEDY
M 580l FHE V2l(+ELDE/HEDE - SRSIIE)
Gl =UHEAMS(SANSALSLESA) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
- HE Stoiet(CCTV) |2
200,000 =20 x12& 4,800
SRS S O A MAAIAE RXE
=l 800,000& »12& 9,600
-AMEJE WHHE e MAAAE FXE =4
120,000 128 1,440
O4. Xt & o el 8,436
-EE(FE) 4,218,000& =2 H 8,436
202 O4dl 2,700 2,700 0
01 = LH 4 Hi 2,700 2,700 0
OLHE Mgd+ dRF=A0HI
60,0003 *3H *x3 «53] 2,700
301 gt L= 64,002 86,933 A 22,931
0B A =R RAB A4S 64,002 86,933 A 22,931
OA=ERRE 64,002
AR 149,000& x10H 128 17,880
-S A 7,0003 x10H »22 x12& 18,480
-w S| 2,4003 10 22«12 6,336
-HXEZ sl 2,4003 10«22 «12& 6,336
-0k2tZ 4l i 6,0003 «8H 20«12 11,520
-=28= 140,000 *10H x 13| 1,400
-gets 140,000& x 10 13| 1,400
-27% 5,000& «10 *13] 50
-G53} 35,000& x10¥ =13l 350
YU EY)] 25,0003 «10 13 250
401 A& B 201 I 40,216 40,216 0
01 A& HI 40,000 40,000 0
ORI =CCTV(H ZE 28 AX
40,000,000 » 104 2 40,000
03 Al 2 THHI 216 216 0
ORI H=CCTV A X1 Al 2
40,000,000% *1.08/100%50%<& 2+> 216
OIS BYEXZAY(2X) 601,890 0 601,890
Xl 300,000
Al 301,890
401 AIEHI L 2CHEI 601,890 0 601,890
Xl 300,000
Al 301,890
01 A& Hl 600,000 0 600,000
Ools BE=Xa A& 600,000,000 1Al 600,000
Xl 300,000
Al 300,000
03 A& 2 THHI 1,890 0 1,890




2N
X ZH -
L= B

el

BB - S (31) - MRAY - BES Ol &t o il 2
OUOIS =T Ag ANZ=HY
600,000,000 *0.63/100%50%<& 2+> 1,890
e H(nsa#d (J1EH/JIE) 436,210 410,029 26,181
H(SAl LS AL SSE 3 AH) 295,756 269,808 25,948
AR2IH (SAIRSEAY) 273,126 248,382 24,744
jeilal.]l 273,126 248,382 24,744
02 JIEt A 2+ 273,126 248,382 24,744
OgerdIIM(7=2:nEINE) 49,556
-H= 37,761,000& 14 37,761
“ANZt 225 7,9703 *1H *40Al 2tx 128 3,826
IHE=E 960
b < 40,0003 «1H 128 480
JIEt 20,000 =2 x12& 480
-AHHAEHEEE 463,000 x 1 43 1,852
-AZEX 155,000 x1H »12& 1,860
—HHgA 130,000 x1H 122 1,560
-teEs 50,000& 128 600
-HItE &
37,761,000 » 12 «84%x*86%+15/360 1,137
OAMZHEHAINM('OH'S: &7 S HFEX &
=) 110,651
- 19,659,500 5% x32/40 78,638
“A2ERI 2R 3,319& x5H «10A| 2t 128 1,992
IHE=E 3,600
b < 40,0003 «4H «12& 1,920
JIEF 20,000 *7H x 122 1,680
-AAHEH EEE 463,300& x 1 43 1,854
e = 105,000 *5H x 128 x32/40 5,040
—HHgA 130,000 x5 128 x32/40 6,240
-Ho 2 4
1,310,630 5% x84%*86%+1/30%1/6.4x76 Al 2¢ 1,874
-AHEE JI2RE3 99,238,000& *11.5% 11,413
OSYFII &5 AAESEHMYIINM Tl=lI(E
) 1,500
=28= 130,000& x5H 650
-get= 130,000& »5H 650
-7 5,000& 5% 25
=) 35,000& x5H 175
OAMZEERAIM('OHS: 27 SYFEI &
=) 109,919
- 19,659,000 5% x32/40 78,636
-hEE 4,800




2 LS#HFED
M HE2IZH(LS#E ) (JIEH/IIE
CHol: IS AU (EADSAYSES ) S H@)
A B O9(SA) - NRANY - BES il 2
bH < Xt 40,0003 «5H x12& 2,400
© JIEHHE 20,0003 «10¥ «12& 2,400
e =R 105,000 x5 » 128 x32/40 5,040
- A gAY 130,000 x5 « 128 x32/40 6,240
A 2R 3,319 x5 10Al 2t 128 1,992
- JtE &I
1,310,630 *5% *84%*86%*1/30%1/6.4*x76 Al 2t 1,874
-AHEE J|2RE3 98,582,000& *11.5% 11,337
OSHZEZT o2 ARSUMAIIE D=Hl (2
=) 1,500
=28= 130,000& 5% 650
-2k =s 130,000& 5% 650
-2 Xt 5,000& *5H 25
-Chat 35,000& 5H 175
PHAB2HH(ZALSAY) 22,630 21,426 1,204
101 @14 Hl 22,630 21,426 1,204
03 RIAHAZ 22+ 22,630 21,426 1,204
OSHFEX RULZAEA JREX(SF) 22,630
-JlEs 40,4203 x1H »261L 10,550
- 03 10,550, 0002 1 *1/12%400% 3,517
-E &2 F | 10,550,000 1€ *1/12%120% 1,085
- A gAY 130,000 x1H «12& 1,560
-hE=E 40,0003 «1H + 12 480
) A=) 40,4202 1H 2 123 «50% 486
=54 40,4203 «1H 522 2,102
—AX =g 48,8002 «1H x17L 830
-d32sd 10,550, 000& * 1% *1/12%20%*23] 352
S 2 X 50,000 «1H * 128 600
I EEE Y=
6, 1003 «1Z *10Al 2t 128 »150% 1,098
JI2dU(SAILSAIESE 3 H) 140,454 140,221 233
N2 10,014 9,781 233
201 Let24d]| 10,014 9,781 233
01 At 2teltl 9,534 9,301 233
ORN2Y Let==EH| 4,660,000& 4,660
ORAM2Y =St 1,890,000 1,890
O=2AIl, Zed, ZAE ST RALE=HI
200,000 7 CH 1,400
OSA &Xt&z 132,000 128 1,584
02 =224l 480 480 0
ORNM2YE 8323 480,000 480
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2A NS
M HE2GFU(nS#HE ) (JIEHIIE
& J2dEl (Al nSAMLSESH) (&)
(o
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
A=A 126,240 126,240 0
202 O4dl 126,240 126,240 0
01 = LH 4 1l 126,240 126,240 0
OFYSFAHLI 20,0003 278 x10 x 12 64,800
OAMZHEEIAINH =REYPF=E NI 24,000
= 20,0002 «5H 10 «12& 12,000
-=+ 20,0003 «5F 10«12 12,000
OFHXSL S22d ZRADZA Y 37,440
-g+ 20,0003 «6H 12«12 17,280
=7 20,0003 «7H « 12 x12& 20,160
2R =&l 4,200 4,200 0
203 PR =&l 4,200 4,200 0
04 EAN2I LRI 4,200 4,200 0
ORNSIYRFTY (B :273)
350,000 = 12& 4,200
Hees(WsdHFN) (5L WNE/HBELNE - EFSIIE 2,185,421 2,066,095 119,326
HEHAHXES(SAI RS AL SESIA) 2,185,421 2,066,095 119,326
AN B ME2(S3AEE) 2,185,421 2,066,095 119,326
09 MEZ 2,145,216 2,051,095 94,121
01 SAL- SHILNHES 2,145,216 2,051,095 94,121
OAME 2 SSANEE JLdES 2,145,216
-SE=XE 2,145,216,000& 2,145,216
404 SASHUHEHES 40,205 15,000 25,205
01 SAL- BHUAE2HES 40,205 15,000 25,205
OAe2elsH SSAEE AA2HES 40,205
-SE=IE 40,205,000 40,205




